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Subtraction (Vertical) Name:
Solve each problem. Answers
1.
) 70 2) 636 3 286 4) 488
- 10 -126 -136 - 84 5
3.
4.
5 2,356 6) 6,292 7 242 8 32 >
- 46 -6,135 - O -1 6
7.
8.
9 2,075 10) 463 1) 2,008 12) 1,186 9.
- 8 - 95 - 7 - 53
—_— — 10.
11.
12.
13) 371 14) 9,048 15) 9,359 16) 99 13.
-238 - 4 -1,547 -81
S S o 14.
15.
16.
17 71 18) 8,068 19) 2,641 200 8,468 17
- 36 - 17 - 259 —_2,954
18.
10.
20.
1-10 [95]90[85[80[75] 70] 65] 6055 [ 50
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Subtraction (Vertical) Name: Answer Key
Solve each problem. Answers
1 60
) 70 2 636 3 286 4 488
210 2126 - 136 - 84 N 510
60 510 150 404
3 150
. 404
5 2,356 6) 6,292 7 242 8 32 > 2,310
- 46 - 6,135 - O -1 6 157
2.310 157 237 31
N 237
8. 31
9 2075 100 463 1) 2 008 12) 1.186 o. _ 2,067
] 8 . 95 ] 7 - 53 268
2067 368 2 001 1133 10
1. 2,001
12. 1,133
13) 371 14) 9,048 15 9,359 16) 99 s 133
. 238 ] 4 1,547 -81
133 9 044 7 812 18 . _ 9,044
s 7,812
16, 18
17) 71 18) 8,068 19 2 641 200 8,468 . 35
. 36 .17 . 259 - 2,954
35 8,051 2,382 5,514 1. 8,051
19. 2,382
o 5514
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraction (Vertical) Name:
Solve each problem. Answers
31 60 1,133 157 2,067
368 150 237 510 2,001 1.
404 2,310
2.
) 70 2) 636 3 286 3.
-10 -126 - 136
=~ 4,
5.
6.
7.
4 488 5 2,356 6) 6,292
- 84 - 46 -6,135 8.
9.
10.
11.
7 242 8 32 9 2,075 12,
- 5 -1 - 8
10) 463 1) 2,008 12) 1,186
- 95 - 7 - 53
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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